MATH 5 CLASSWORK 23 Review

May 4, 2025
1. a®=1
2. g™m.q" = gm*tn
. a™ -

3. gM=q" = == m-n
4. (ab)" =a™-b"

a\" a™
5. (5) =4

1

6 a™ = F
7 (am)n = g™mn

Binary numbers. Powers of 2:

n 0 1 2 3 4 5 6 7 8 9

2" 1 2 4 8 16 32 64 128 | 256 |516

Numbers in decimal notation can be presented like this
351=1-22+0-27+1-26+0-2°+1-24+ 1-23 + 1-22 +1-21 + 1-2° =101011111b

351=1-2840-27+1:2°+0-:2°+1-2°+ 123+ 1-22+1-2* + 1-2° =101011111b

Square roots VaZ=a

VB=VEZ=vViNI=\2 VB=22
Ve = J@Y = at

Proportions

To make 13 cookies you need 2 cups of flour. How much flour you need to make 20 cookies?

13 cookies — 2 cups 13

20 «x

20cookies — x cups
13x =220




1. Simplify:
5a2p5 3 ( ab)g
(a) ( 2 ) = (b) (222-323-2)2 = (e)— =
4a3b3 (ab)2

. (3ab3)2_ 75¢ (3a5b2\* gt

D\ Tsp azbé A TPy v
2. Simplify:
652 422 9224 [+ -
35.22 - 62 - 62 - \Igﬁ 12 =
3. Solve equations:
a) 7x=2 b) 12x =6 c) 7x = 14 d) 21x =7

3 11 121 3 1
e)=x == fl—x = — g +8=10—h -+ =x—3-

8 3 113 3 4 2
1) _]:'v' _L_}'v' —_ + M

27 T 37 T 12 2a—-5x%
4. Solve equations:

3 x—2
a)—x =— b)|2x — 5| = 1 c) =3
8 x—1

5. Open parenthesis, simplify:
2a(2a—3)—3QR2a+3) =
(2a—-3)(2a+3) =

% —5) 4w +5) =

6. Find legs....

3¢

Y

7. Binary numbers:

MATH 5 HOMEWORK 22

April 26, 2018

Find the length of
legs, if hypotenuse
is 10?

a. Write as binaries: 35, 11, 40
b. Write as Decimals: 101010b, 11100011b



8. Find cable weight:

A piece of cable 8.5 cm long weighs 52 grams. What will a 10-cm length of the same

cable weigh?

9. Find a simple fraction form for the following repeating decimals:

a)0.73 b) 0.81




